NEW ORLEANS.

Radicalism Run to Seed.

A Secretary of State Ousted by |

Police.

Scheme to Bwamp the Wﬁqr
works,

£100,000 for & Negro Vote!

New Onieass, Aug, 30,—Gov. War-
suspend

duties of the offiee until the’ Legisisture
acts upon the subject. Bovee's offense,
the Governor charges, was in promulgs-
ting knowingly, wil;u]ly, nnl-wfnﬂy-nl;d
wilk the purpose of impesing upoa the
people of the State as & law that which
he knows hss pot became a law—a bill
pased by the lsst Legisiatore, known a3 the
Crescent, City water works bill.

Bovee, refusing to surrender the office,
was forcibly ejected by the Metropolitan
police and Herron placed in possession.
Bovee claims that he scted with the ad-
vice ef the Attorney General of the
State.

While Boves was being ousted from his
office in the Mechnnics' Institute, a still
more di ul scene was occurring sl
the City Hill. The lsst meeling of the
Council passed su ordinsnce sathoriziog
the extension of the city waterworks on
the Holly plap, suthorizing the issue of
two and & balf millions of bonds for thal
purpose. An ordinsace wes also intro-
duced to lease the waterworks to the City
Waterworks Company for twenty-five
years, and wsuthorizing the parties to
mortgage the works for two millions.

Discussing the messure to lesse the
works, administrator Da Lassigee, col-
ored, produced a certificate for one thou-
sand shareg, *hundred dollarseach, of stock
issued w Josn Lockwood and endorsed
by Lockwood. Mr. De Lasssigee siated
that they had been given him to secure
his vole for the railroad.

Mayor Fianders staled that every mem-
ber of the Couiicil had besen approached.
He had seen s hundred thousand dollars
worth of stock offered to one of them.

Admimstrator Wattson sisted that be
bad been offereal a sum which would
maske him indepeadent fur life if he would
support the messuare.

The impression prevails that the scheme
will eveotually psss the Council, aud the
city will not only be fleeced out of its
water-works, but out of two millions of

dollars additional.
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